RiESEEH

é%%%i’%% ?mz—;—'“z\ji) ﬁﬁ%}%&?g’\'d % /\HXEE]’




ES LT S

(W4 (R2BEL HEFHITY E .- 0REEH TS0 REES ¥ M A ZERS (— )
IH H — A
THE - T - fER - Bl Hiks HAfL B HAA BFA B - BHEER T o
— AR
= 1
ERHAE
= 1
Mg~ F
= 1
BEET A AL BRI FRNE
B - B
[=] 36
A A G AKALE TE R : 0~20m TR
B - EREE
=] 24
AERH FEAKALE PIEFHR - 0~30m Y=
B - B
=] 9
KERE FEARALEE PIE R : 0~50m Y
B - B
[=] 3
BEAK R W e
B - B
=] 78
T AR SRR
= 1
R AL VERCE (kA —) 7))
= 1
MR AL
= 1
Vi3 G'SiE
= 1
V=" Blik=¢ NLE
=; 1
-1 - TEE R




ES LT S

B4 R2ET HEHTD % OKEE TS0 WEOES % M HE B A RS (— IR D)
H A IR
T - T - AR - ) ks B # L S Kol - R iz
CETERE
"
s
"
TERLR R
Y
IR
"
b Sa
"
RSB Tt
"
T 0 T
"
HEF ) 5 3E
"
il
"
T
"
HaEs%
"
frae M
i
ELRERER
"

5
i
S




B LR ERE

(W4 (R2BEL HEFHITY E .- 0REEH TS0 REES ES il W A ZE R (FRAT SR A
IH H [R5
THE - T - fER - Bl Hiks HAAL B Bl BFA B - BHEER T o
[R5 T
= 1
B A B
= 1
i Gk N 55
= 1
T AR SRR
= 1

== - =] - N
BT PR R AR (9 ) ) BEWERRAL, TR IR

= 1
EBEFM (2 ot R AR <)
= 1
Z Ot JEAR N 6%
= 1
— W B N TE
= 1
AT A R
= 1
EF IS
= 1
THEBLAE 2 %A
= 1
B E sl
= 1




— $ A E FH A A 2021. 02

1 Yﬁz WSR A A A 2021. 02
H = PSR 1. 000-00000 0.0 0

LW - B % BN o BT &HE e
[ERCZEX - TR
= 1
Gt
— 4 — 7



A E FH A A 2021. 02

A) 5. !
1 /Jb\ W ﬁR% ifﬁﬁﬂ%ﬁﬂ 2021. 02

F S IREEARER 1. 000-00000 0.0 0

Ij;] 27%" é%ﬁ%

SRR - Bl % HAAT & B SHH i 22

WA E
= 1
%

Sty
= 1

R

Gt




N = B sk 4 A 2021. 02
1 /k W :Ri BEEMEA | [2021.02
B = VS ey
e I3 s aREEAR B 1.000-00000 0.0 0
N3 i
e LR - B S BT & B 4o%E i
e
' N 9%
W Y
BB =5
N 105
B0
At
N = EAff sk 4 A 2021. 02
1 /k W ﬁR% e [2021.02
Ao AL SR A7 K
o F S IREEARER 1. 000-00000 0.0 0
N4
— LW - B % BN o BT &A L
(=) N 115
ES> 1
Gt

5
i
lﬁ




— $ A E FH A A 2021. 02
1 Yﬁi WSR A A A 2021. 02
H = PSR 1. 000-00000 0.0 0
LW - B S BN o BT &HE L
[ERCZEX - N 125
= 1
&t
— A E FH A A 2021. 02
1 IRNERZE EHEEA (202102
H = PSR EEAR 1. 000-00000 0.0 0
LW - B S BN o BT &HE L
EENE (T ERA)
= 1
o/ 1—a)
%
Z Ot A
= 1
At
— 7 — 7




\ = HA 1 4 2021. 02
1 /Jb\ W ﬁR % A A A 2021. 02

PSR 1. 000-00000 0.0 0

e

|j<] 77%" gﬁ;%ﬁ%%

LR - HikE % BAfL s B KA T
e =i
= 1
B/ (1—p8)
%
— R
= 1
Bkl
&t




N Y. A E FH A A 2021. 02
1 YR B 5% BB 202102
PSR 1. 000-00000 0.0 0
w1 [PDEVEE WAL R
B - B BAfL [ BN E | B
LR - HikE % BAfL # B KA T
& H o6&
AL PR E
L~
R Ho7E
i A AL R
FL - |l
&t
=X i
N Y. A E FH A A 2021. 02
1 YR B 5% BB 202102
PSR EEAR 1. 000-00000 0.0 0
W g |REH RN HITEHEHH < 0~20m
7L - e Ei El HA 8 . H
LR - Bk % BAfL s B KA T
FRIER E FEARALEH L H 85
]
AR A FEARNLEHE BB W 9w
[A]
&t
A

5
i
lﬁ




N Y. A E FH A A 2021. 02
1 /k @’fﬂﬁ ?% A4 A 2021. 02
———— T AR 1. 000-00000 0.0 0
O E S ool WIFE G - 0~30m -
AR HAAT [E] BN B ) BT
AR5 - Bkl it B % — _
KIES A Tk e Gl sl %
105
]|
AKEZH FERNLRHE R R
H 9%
]
Bt
Bl
N Y. A E FH A A 2021. 02
1 /k @’fﬂﬁ ?% A A A 2021. 02
———— T AR 1. 000-00000 0.0 0
o g | B WA : 0~50m 2
A HAAT [E] BN B ) BT
Tk - U G 2 pree) — _
KIER A SR — il € fli 2
Ho115
|
AKEZE FEARNLRHE R R
B 95
]|
Bt
HiA

,10,

5
i
lﬁ




N Y. B 4 A 2021. 02
1 YR B 5% EHEEREA [2021.02
PSR 1. 000-00000 0.0 0
W o5E HEAREBLI
B - BB BN (=] AT ] HAA
LW - B S BN o BT &% L
HEK S Ho12%5
[=] 1
Bk BERE g W 135
r A 1
At
Hift

5
i
lﬁ



RIESHFEHGEERD

2 Al #A A BEEEH
g RYFEE BEERAE A X FLRERIETHERRIET 127,
£ 81154 36F.-[Al
0 B # 36F.-7H
B {4 1 (35 F B EE) 0.25
e NYBERE KEX BEE/KAIEHERBIET 127,
£ 81154 36F.-[Al
0 B # 36F.-7H
F1ERFR 105
£ R1 B R 155
58 B 155
AR B 40,000 /m3
INYT) — KRR 7,770H
VAV ju WY XV ¥ =F 2 290M
| —& —5 A Z—K KM 79,900 (38 %1 T¥123-)
Hek 28815 268 Fr
#5381 31 %% 78%L-[H
0 B # 718¥.-7H
F1ERFR 105
#5165 R 155
58 B 155
B {4 1 (35 F B 1) 0.10
REXEE EEEEE S4k/A1. 5L 55-H
g RYFEE g RYFEE R IE RN 1¥5%
i HT 47 1 2K AW
MESIERK 1¥5%
REIBEEH 2iEH
HEESE TEE FRIIT S EE 1[8]
REXEBE EEEEE S4k/A1. 5L 3&5-H




RREH—ER

(%4 R2EL BFHiMIANY =H-7\EH I XYFAEEHF

E2E R BT =i e
VAV ju WY XV, % =F 2 H 290
|)—& —S5 A 3—K A& a8 79,900 |#&% 123 H




